A

TMEATYT ST &AM QA Ugah? Fr=foafaa ot & S9
@ (@1 - 5)

‘il WER H w1 @GR ¥ = o ST
e ¥ TR, R w1 Hg g W W ¥ fbg
Eﬁa%mﬁsﬁ'mwm%laﬁaa@
1 T, A W e, We w srefm
ST ot R Fie S §; A AT A Bl GeIal i
mmaﬁ%’wﬁaaﬁmamﬁaaﬂ
mm%naﬁaﬁmm@mw%lm
I 9 g g @ ¥ | Wicd R § st @ el
3 7| WERR H ST A € T T wEE Y
3T H U IR P I 3TV A 1 vl 1 i
FUFR A ITF T, REH oA ¢, @ H 9 ok e
e R o =t 7o iR suel Wifd @ wm= ags
it SR B S ¥ 150 VA HiA w1 ST B 3R A
ST < Y HH A SEa g 2

1. T’ v i foeim @
@ freEa
(2 TUEA T
(3) e gem

(@ Few

2. U g i % SIgER SRE W o w72
1) =
(2 srefm_
@) =&~

@ a'?félﬁ'\/

3. m%mmm@aﬁm@%_
1) wEaEe”
(2 FER ]
@ =
@) TH

SHIVA/G ‘ 2

7.

fore HOR ¥ wfaa gad S=1 82
1) dr<d gar i \/%
(2) YU H

(3) wiH

(4) 9EAH

o m%m'@%ﬁ—l%quﬁt—nm

T -1 T - 1
= L P
' N
(a) zaﬁafr () et
(b) = gm: m ji)  STRUH TRTRT
() o g (i) fi"‘{“'é'?'
(d) e H (iv) STU

= feu 7q faercdl § ¥ W& 3T 1 997 Hifeg:
Q) (@), B)-(), ()-Gv), (d)-(ii)

2 ()-(iv), ®)-(i), (©)-G), (d)-@) "
@) (@-@), (b)-(id), (c)-(i), (d)-(v)

@)  (a-@v), (b)-(ii), ()-(i), (d)-G)

‘q& ofrer gy wifeq | 39 o | et e TR
EARENLL PR
(1) W
(2) ToEEE
(3) WIS

ﬁmﬁ{ﬁaaﬁﬁq@ oY= 9aam’ § 2
(1)

(2 €

3)

s

‘SEII(UI'W%:!;'@ fa=og & :
(1) Sa@1 + =R9
(2) 3W@ + IR

B+ T

(4) B?f+%nm

7 L
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g, rifera # sga=H ¥ warm 2R O v -
(1) uda
2 <=
@) @i

MR

j0. Freifafae A cfirmaTe W’ 1 T SR B
(1) 9= |
(3) FEH
(4) =

1. ‘T’ % AT g A A WY R
- :
(1) Office order
Memorandum
Drafting

/ Notification

12. mmmmwmqefrwa‘f’.sﬂmm%ﬁ
fuma=s®: :
(1) FF=
2) A~

() T /
(4) ‘TR
13. ‘Hoa1 91’ 39 9 & fhan frq @@ & ®2

(1) <mH= *d

A2 T

() W™ @

4 IRTRF
4. mﬁﬁﬁ@mmw‘m'mﬁ?ﬁw

15. frifea o wd form fag aren fawea ®
'y~ T | et T a1reE R
(2) Y TF [, AR s
(3) 3T = Efehy, ¥ a1vit e €2
4) T, Foe grRrd o, d e G A2

16. ‘Comment W o Tt vreg B
feoqur :
(2) SheER
(3) et feoqut
4) omEmEHTE

17. ‘SRR’ YR F W SO R -
(1) o |
@ =
@) <M

\/(Aa i

18. mwﬁﬁa—mm%7

(1) % Y r‘x;_f

~(2) °H
3 4
@) o=

11 ['f' -

il |

01

S ™

19. ammﬁsﬂugrshﬁaﬁ?@am EGRSIEIIES]
1 9 31ef B
(1) THEE D A T FE BAA S
(2) T TN R G T B S0 S
W%ﬂa’a—aaﬁwwm%a‘wﬁ
Sgdel :
(4) a@wamammsﬁwﬁ%u

20. ‘e O’ % faQ Suge aﬁﬁﬁ IS B :
(1) Catering <

ﬂ/ Catalogue

(38) Censor »
(4) Centre c

P.T.O.
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21.

22,

23.

frrafafaa § ‘9’ vse 1 gaigam! B-

3‘"‘11'(\/
S

)
7

(4) QIR

frefafea 3 § * wweETE W S
(1) i —

(2) = S

B == = )

@ o

= o=l ° R Sifen =gl 1 99T wifse-

25. R F
(1) TERIEA - =
(2) TIEMEMR sTFn;/
@) FeEwmi/
(4) T e
SHIVA/G

Read the unseen passage below carefully for
comprehension and answer the questions that

follow : (26 - 30)
Next to water, tea is the most cornmonly

consumed beverage in the world. This is a good
news because tea offers important health benefits.
Its benefits were first discovered by the Chinese
Emperor Shen Nung-who declared that it gave one,
vigour of body,~contentment of mind and
determination of purpose. Today, there is ample
proof that tea in its many forms possesses a number
of health benefité:if_ié@ supporting the immune

| system to reducing-.»th:e risk of cancer, to helping

prevent tooth decay. .

~ What makes tea such a healthy drink ? The
star compounds are called catechins. Those are
antioxidants, that help prevent cell damage by

| harmful molecules called free radicals.

Tea can be black, green and red and is derived
from a warm-weather evergreen tree known as
Camelia Sinensis. The more processing; tea leaves
-| undergo, the. darker they become. Green tea is the
least processed tea._It is simply steamed quickly
and offers the maximum healing powers because
itisn’t fermented. It ’él'so helps prevent tooth decay
and aids weight loss:. | N »

The world mustnow explore healthier options
when it comes to beverage consumption as the food
and drinks we put into our bodies are our fuel.
Therefore, we cannot undermine the crucial role
of healthy drinks and the spotlight remains on tea.

26." Read the passage carefully and select the
correct answer from the options given
below : -

Whlch ant1ox1dants make tea a healthy
?
The presence of free radicals i in it.

(2) The presence of star compounds called
catechins:

(3) Mixture-of-water in it.

(4)  The presence of leaves of evergreen tea.
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27. Read the passage carefully and identify the
word which means the-same as ‘harm’.

(1) fermented J T
(2) loss -
(3) damage

(4)  proof '

98. Give opposite of the word ‘ample’ used in the

passage.

Select the most suitable
options given below :

answer from the

insufficient
(2) evident ;i—
(3) - sfrong ey
(4) plentiful = =

29. Read the passage carefu]ly and identify the »

incorrect statement from the op’aons given
below. -

Chinese Emperor Shén Nung declared that :

Mea brought contentment of mind .

@
@)
4)

Tea gave determination of purpose.
Greéen tea aids weight loss.

Tea added v1gour to body.

30. Read the passage careflilly and 1dent1fy the
incorrect statement which does not mention
the benefits of greemtea as given in the

passage. ——7

Mevenm tooth decay.
)
®)
©)

It aids in weight loss.
It is the least processed tea.

It is fermented.

SHIVA/G Rl 5

.

Fill in the blank with the correct preposition.

31.
Water is supplied __________ pipes to
residential areas.
(1) through (:/
(2) in =
(3) »fro'm ;:_
4) by
32. Choose the No;m }roﬁ the following words.
(1) Wait __~
(2) Freight
(3) Alienate
(4) Great =——

33.
the correct answer_from the optlons provided
“below. ]

I told him mafja? “not

the job because the pay _.

\/'( can, doing,vis
2
o
W

less. -

am, dp, is
will, did, is

could, do, was

34.
following wox;ds s appear in a dlctlonary

1
(2) Roll, Rude, Real Rear

Mal Rear, Roll Rude

Rude, Roll*Rear, Real

(4) Rear, Real, Rude, _Rolf

P.T.O.
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35. Choose the sentence with incorrect usage of
Article from the options given below.

(1) A student should be disciplined.
(2) This is a golden opportunity.

@ I read'Tin1es of India to improve my
vocabulary.

\/cy The @dayas are young mountains.
36. Which one of the following sentences is
correct ?
(1) He is much weak that he carmot walk.
(2) He is very much weak to walk.
He is so weak that he cannot walk.

(4) He is very weak to walk.

37. Choose the-correct meamng of the following
word - 7 =

2 A dlagram cons1stmg of a line or lines,

showing how two or more numbers are
related to each other.

' The small hard seeds of food plants such
as wheat rice etc. :

(3) A piececutfromaliving plantand fixed
in a cut made in another plant.

(4) Drawmgs or writings on a wall in a
public. place :

—_—

38. Choose the’ Spellmg which is correct.

/ Splendour

Spluter

\3(2)/ Vagebond
& Rodant

SHIVA/G

39. Choose the correct sentence from the
sentences given below.

(1)  The train left before he reach the station.

(2) ‘The train had left before _Iiereaches the
station.

(3) The train left before hejreached the

station.

40. Choose the incorrect sentence from the
sentences given below.

The train had left before he reached the
station.

(1) Had I practised hard, I would have
won.

Why are you not actmg upon my
advice ? s

(3) How long were you preparmg for this
exam ? :

(4) He was sleeping wh1le his friend was
studying.

41. Choose the sentence which has correct usage
of Pronoun.

(1) Any of these three boys won the race.
(2) Onme of this three boys won the race.
(3) Many of these three boys won the race.
(4). One of these three boys won the race.

v

42. From the following sentences.choose the
option with the correct usage of Adjectives.

A

(2) As high you go, as cool it becomes.

As higher you go, the coorle;f it becomes.

(3) The high you go, the cooler it becomes.

(4) The higher you go, the cooler it
becomes.
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43. Choose the spelling which is incorrect.
(1) Pasteurize

(2) Cereal | »

(3) Orthopaedics g

‘/(() Comitment _‘

44. Fill in the blanks in the given sentence with
the correct answer from the options provided
below.

- Americans were Y A
first to land on moon.

)M The, the, the

(2) The, a, the
¥ (3) An, the a
(4) The, the, a

45. Fill in the blank w1th 4 e orrect verb in the
following sentence.

The news of our team’s v1ctory

M) s

# () has

~3) are : Y
.(4) have %,

T

46. Choose the sentence With correct usage of
Article from the optlons ‘given-below.

A

(2) Heis studying in an University.

difficult. N |

(3) The police lodgéd a FIR against the
criminal.

(4 United Kingdom is in Europe.

.s .
HIVA/G =

The first questlon lof the paper was

47. Choose the correct option for changing the
following sentence from Active to Passive
Voice.

The coach has trained the team for the final
match.
(1) The team is being trained by the coach
" for the final match.
(2) The team has been’ tramed by the coach
for the final match.”
\}}) The team had been tramed for the final
match by the coach:- .
(4) Theteamhave been.trained by the coach
for the final match.

48.. Which one of thé given options is the correct
meaning of the following word ? -

IMPLORE
(1) o discover.something
M o explore something
(3) To beg for somettung
(4) To uncover sometfung
49. Choose the corzect seqife;iée in which the
following words appear in a dictionary.
(1) Pendant, Peace, Péal, Peel
(2) Peace, Peel, Peal, Pendant
(3) Peel, Peace, Pendant;-Peal
Peace, Peal, Peel, Pendant

P

50. Choose the correct option for changing the
following sentence from Direct to Indirect
Speech.

The lady said to the maid, “Don’t go outside

the house without my permission.”

(1) . The lady ordered:the maid not to go
outside the house without ‘her
permission. =

(2) The lady ordered™ the maid to not go
outside the house without her
permission. 5y -

(3). Thelady told the mald to not go outside
the house without my permission.

(4) The lady requested the maid to not'go
outside the house without her
permission.

- P.T.0.

CamScanner


https://v3.camscanner.com/user/download

A

51.

52.

53.

54.

W—m%mwaﬁ HSA H AR HE
S E ?

1) WER (2 W&
@) P -

b TR
Which city of Uttar-Pradesh is known as the
‘City of Knives’ 2

1) Saharanpur 2
(3) Mirzapur (4) -

Bareli
Rampur

FE W% 3 TR § o= e H e #2
(1) ¥m@ (2 Y=t
©¢) e @ T

Which Planet moves in opposite direction,
unlike the other: planets ?

(1) Mars 2 . Earth :
(3) Jupiter (4) Uranus.

1154

ﬁmﬁmﬁ@ﬁ;&mﬁ R S

. 3fea’ B9 W T @S ?

1) TS AR
() 3Ta HiaH

(3) TR T A

(4 AT / |

Who among the following personalities is
known as ’nghtlngale of India’ ?

1) Saro]xm Na1du

(2) Amrita Pr}&_xn

(3) Maharani Laxm1 bai

(4) Mother Teresa
- L)

(N
MAHRIGEAFA -~ 7

1) =Hd (2 =He

3 Ta= (4) TgEl
National flower of India is :

(1) Lotus (2) Jasmine
(3) Rose (4) Sunflower

SHIVA/G

57.

(3 fR
The currency Umted ngdom 1S¥:
(1) Taka ﬁ 2
@

Euro
Pound Sterling

& BN

(4) R A I8

The National song of Indla was composed
by :

1) Banklmc};andra Chatterjl
2 Rabmdra,patb Tagore

(3) Mahatma Gandhi

(4) Jawahar Lal Nehru

ma&f%gamﬁwénmaﬁmﬁrﬁw%ﬁaa
H q HE-G ot ?

1) = 2ozg 2:03
() e 2018-19-;
() wSIE 2020-2T

@) = 2021 22 -

Which of the followmg Budgets was India’s
first paperless Budget presentation ?

(1) Budget 2022-23
(2) Budget 2018-19
(3) Budget 2020-21
(4) Budget 2021-22
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58, WA 1 UK &l |
(1 (2) FEW
@) e @R
National bird of India is : et
(1) Parrot (2) P1geon
(3) Sparrow (4) Peacock
59. SIS, ST WaW, feR, uﬁa'r_r ERIGHEC R
fafery it g HET — Y
2l ’ ’
Q%Tﬂ'ﬁ (2) WFER
@©) = (4) EH
Uttarakhand, Uttar Pradesh, Bihar, West
Bengal and Slkklm have common frontiers
with
(1) Nepal (2) Myanmar
(3) China 4) Bhutan
60. e, ﬁgm@aﬁmﬁa%7
@ = -
(3) fee gt =]
@) =« ™ ‘
With which sport P.V. Sindhu is associated ?
(1) Badminton '
(2) Wrestling
(3) Women’s Hockey

(4) Table Tennis

6L @WWW??MWW&

W%ﬁm@qmaﬁ?m:
2 Ffww <= R
¢ FEmem O
4) afe Tgaa N

Who was the first Indian cricketer to score a
‘double century in one day International
cricket ?

(1) Virendra Sehwag
(2) Kapil Dev
(3) Sunil Gavaskar
(4) Sachin Tendulkar

SHiva/ g

62. ARt i e fere forfer bt v e & 2

@-aw @ B
@) 5fwmmr. 17 (g) 15 R

On which date, the International Yoga day
is celebrated ?

(1) 21t June _if 2) 25t July

(3) 5t September (4) 15% February
63. I HI TSHFT H1 M &g |

1) 2N 2) el

@ fim g

Name the cap1ta1 of China.

(1) Tokyo () Chicago

(3) Shilong (4 Beijing

HM 115

64. T, mﬁé;azqtﬁ@m%7

M @

T (4 T |
On which river bank is Agra situated ?
(1) Taapi (2) Looni
(3) Yamuna (4) Ganga .

65. TSR @Fﬁgﬁmﬁvﬁw ﬁs‘ﬁ'ﬁﬁﬁa@ﬁm

Rmmﬁﬁqmm @2
(1) SWww ~ . e
@) dferg = ﬂ(4) ST

In first-ever 'Khelo Indxa Para Games’ held
in New Delhi, which state was at the top in

medals Tally ?
(1) Uttar Pradesh (2) Haryana.
(3) Tamil Nadu (4) Punjab
PTO.
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66. ﬁhm%m%aﬁ S TR F T H S
SR ? -
) W ;(,2‘) qH
@) Tewfa @ =
Which Planet in Solar. System is known as
the ‘Red Planet’ ? - 3
(1) Mars (2). Mercury
(3)  Jupiter (4) Saturn
67. WRAd % A Yok I=AM-3 7 KA & A&7 T i
R RARACT__ . w=H R
(1) 9o 27, 2023
(2) o7 11,2023 —
(3) S 23,2023 _ -
\(@/ faar 24, 2023
The moon rover of India’s Chandrayaan-3
made a soft landing towards the South pole
of Iunar surface on :
(1) TJuly 27, 2023
(2) August 11, 2023
(3) August 23, 2023~_’_
(4) September 24, 2023
68. WS WRE ‘=R tﬁ#r{ A H feora €1
(1) HEIER (2) =T
@) WX @) FER
The famous monument ‘Char Minar’ is
located at
(1) Bhubaneshwar (2) Patna
(3) = Mysuru (4) Hyderabad
SHIVA/G

10

69.

70.

71.

72.

S WY & Tohd Wt H TN T H1 T fig
T Gifecd hl, U8 HI ?
(1) e (2 =R

T TETS (4) X
In which city of Uttar Pradesh will the
Government set up the_country’s firs
language museum of Hindi literature ?
(1) Ayodhya (2) _Varanasi
(3) Lucknow (4) - Kanpur
" wreell, 9 vgrsh’ mmﬁﬂ?aﬁm
# T ?
In which year the famous ‘Beti Bachao, Beti
Padhao’ scheme was'launched ?
(1) 2017 2015
(3) 2021 (4) 2019
wHemsrt YfEn Q gifE ¥
(1) 37y 99 Py
(2) dfETg

AR
Q -
Kalamkan Painting is related | to
(1) Andhra Pradesh  —-
(2) Tamil Nadu AP
(3) Rajasthan
(4) Punjab
& S P AR fora HiE st
S amE: e w1 ¥ &
w9 H S S D
1) wieSt
2 @1
@) wwEsa
(4) TP A
The area or natural environment in which
an organism or populahon normally lives is
known as : -
(1)  Cottage .
(2) Forest e
(3) Atmosphere
(4) Habitat

CamScanner


https://v3.camscanner.com/user/download

73. ‘o GUNS’ Wi Al foRaq & ? 76. @aﬁaaﬁﬁaﬁ‘ﬁmzzw%nmﬁw
T T S S Sl & foEd S 1 95 g
(1) A SIS e el 3R Fol JEa SRS 1 UM 2:5 A

(2 W e ST %1 Se % a o B (em H) F0R?
3) wmw‘mw - (Tr i %] | '

(4) <IFR S - 4 ,

Who founded- A_rya Samaj’ ? A solid hemisphere. has radius 22 cm. It is

melted to form a cylinder such that the ratio
: _ of curved surface area to total surface area
(2) Prateek-Arya . of cylinder is 2 : 5. What is the radius (in cm)

(3) Raja Ram Mohan Roy

1) Mohand;s_ Karamchand Gandhi

22
i ?2 | Takew = —
(4) Dayanand Saraswati of its base ? ( i Ao )

1) 23 :
74. ﬁwﬁf&aﬁﬁm%mﬁqﬁmfawm-zozz M) @ .2

sfen? e 22\/ S o,
(1) M “42) W e T

3 ?:ﬁQﬁ - i_:f_;, 4 TR : . R; e
©) i @ APQRH, £LP: £LO+/R=2:3:4 % TF @I
Who among the f llowing country won FIFA RS, PQ ¥ THHIRR. ‘@'1'3’\ I} % q8 L PRS =7

world cup-2022 ?

(1) Argentina . (2) France _ In A PQR, /P : 4Q 4R 2.:3%4: A line RS
©) Croatla ‘1— (4) Morocco drawn parallel to PQ, then . ZPRS="?
- W a0 (2) 155°

75. T R SS9 SNy YA % fhd = | 5 o ee
— (3) 30 (4) 45

: (2) HAleH

78. ?11”‘«' x+2y = 63%311@"“’ 3 3 Aoty

(3) WA Y - .\ Y
?2 ¢
@ W ui'sr___;j 1 WA T B 2 f .__) ]1,
:"““x!
Gandhi Sagar F Wildlife Sanctuary is located ;
in which state of*India ? . If x+2y = 63 and'x;y 13 , find the value
"0
(1) Maharaj})ﬂa of 2x+y=2 _ 28
(2) Karnataka,_ : ‘
(1) s3 54

(3) Madhya Pradesh 5 e

(4) Uttar Pradesh 3) 50 4) - 51
SHIVA/G - o2 (s 11 : P.T.O.
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79.

T 1 F ORI TEE 45w cm S TH g9 %
oY gRT IRes FeaEs 1 %A 30 7 cm?
2170 59 I A BT (cm H) =701 Bt 2

The length of an arc of a circle is 4.5 7 cm
and the area of the sector circumscribed by

it is 30 7w cm2.—-What will be the radius (in
cm) of the circle ?

o 3 40
@/% © 13—0-

83.

84.

wldosﬁmw@@ﬁ#@rﬁwﬁﬁm
€ T 01 7 W ?

By what least number should we multiply
1008 to make it a perfect square ?

e, @) 8

@ 5 3 4) 6

'Elﬁ(gg__-tﬁ+3x) x2+5—3_) A2-B2 ¥, qt
A=5=7

If (x2+5 +3x) (x2+5—3x)=A2—B2, then

80. T Af 7 S&-9 TRV =S W 12% Ffd A-5=?
¥ H R/ F FOL oA d1 a6 R SEd S i
AN & AR T FF i T 61,200/~ YA HEA , (1) E 5: ey b‘?)/xz
ol | 3% BRI SR <Al T T Jd Y| @) 2+1__ O

81.

A man took a’loan from a bank at the rate
of 12% p.a. simple interest. After 3 years,

he had to pay < 61,200 as interest. Find 85. 80 T qﬁ?ﬂ% e | LS :
the amount borrowed by him. _ fora T E’"-' f NN ;j:ﬂg:[ LR
(1) 1,30,000 ) %1,20,000
¥1,70000 . (4) ¥ 2,70,000 (1Y 384 Q2 (2) 400 92
(3) 364 TR @) 374 A

TR 1 T T YR <A1 W SR 7, T8
10 =r5i § QA 2 ST B A AT HY S A

Find the area of a rhombus 6f perimeter

M2 80 cm and one of its diagonals is 32 cm.
A sum of money is lent at simple interest, 1) 384 cn\?ﬂ - (2 4b0 cm?
the money géts.double in 10 years then the & S :
rate of mtercef_hi; () 364 cm?2: (4) 374 cm?
(1) 15% ——  (2)  20% \ s ' ‘
@) 5% x— L)ga/lo%
& SR 86. 3 a aﬂtbﬁmw%ﬁﬁmﬁf@aﬁ@aﬁ#
82. T1XT72XT3XTHo. x79, % oA # WE 0
T 3F FTY? ’ » s
ot S TS ' If a and b are odd numbers then which of
The digit in unit’s place of the product the following is even ? <o
TIXT2XTBXT4 o X 79. i .
1) , @ 3 at+b (2) a+b+1
3y 0 4 1 B) ab . (@) éb +2
SHIVA /G 12 6(245)2, )\-~A':‘)(24}/ 5
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- ]eeccc O
87. aﬁ:———01634a e
6.198 0006198 '
qg%: ,W
= aneeeT X BT
0( JooeeowEl
If _looo_ 16134, then the value of
\ 6(198 ) 0 v BHYe
s 1 4 il
0.006198 *°° N\
(1) 16.134 (2). 1.1634
\/(3)/’161.34 @ 16134

T ST m, n WW% 79 YR %
Gm 4 2m+n 3m 4 on=332 ¥, A =H (6™ +1)

(2“+1)7=‘6T11HW%? :

88.

Suppose m, n are positive integers such that
6m 4 2m+n 3m4 On=332 The value of the

expression (6™+1) (2"+1) is :
333 (2 332
335 @) 334

3)
3 . =

R WeEmsT 1 IR 1260 8 3T ST HCF 6

%lswmaﬁmLCM%—— ‘

89.

The product of two numbers is 1260 and their
H.C.F. is 6. The L.C.M. of.the numbers is :

1) 230 (2) 240
(3). 200 4) 210

8A2 TF T i gem ¥ fad A w g@
3w T 1 afg w6 | fasa &, ?hAmumﬁ:q
Wﬁwﬂﬂﬁw%7
8A2 is a three- -digit number with A as a

missing digit. If the number is divisible by 6,
the value of A from the glven options is :
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What is the value of fhe expression
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The LCM of three different number is 120.

Which of the following cannot be their
HCF ?
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If 2(x —3)2 —28’8 then_;'+1 can be :
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If A is 28° more than its complementary angle
and B is 30° less than its supplementary angle,
then find the value of (A +B).

1 79° Q) 146°

B) 130° ‘}4)/ 134°
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The sum of three cdnsecutive odd numbers is
always divisible by :

M s 2 7
@) 2 \M

T URAT A& o kA &1 W AT 17 % FohH
¥ 6 T F TR A1 o8 IRAT F&H .18 2

~ Ten times the reciprocal of a rational number

equals 6 times thereciprocal of 17. Find the
rational number =
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Find maximum length-of any object that can
be kept inside azrectangular box of
dimensions 10 cm><4 cmx3 cm.

(1) 5+5cm 2
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Cube root of a number when divided by the
smallest prime number gives square of the

smallest prime number, find the unit digit of
the number.
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